# An Analysis of Global Stability of Cohen-Grossberg Neural Networks with Multiple Time Delays

Zeynep Orman, and Sabri Arik

Abstract-This paper presents a new sufficient condition for the existence, uniqueness and global asymptotic stability of the equilibrium point for Cohen-Grossberg neural networks with multiple time delays. The results establish a relationship between the network parameters of the neural system independently of the delay parameters. The results are also compared with the previously reported results in the literature.

Keywords-Equilibrium and stability analysis, Cohen-Grossberg Neural Networks, Lyapunov Functionals.

## I. INTRODUCTION

N recent years, equilibrium and stability properties of different classes of neural networks such as Cohen-Grossberg neural networks, Hopfield-type of neural networks and cellular neural networks have been intensively studied and applied to various engineering problems [1]-[13]. In particular, the existence, uniqueness and global asymptotic stability of the equilibrium point for neural networks proved to be an important property as neural networks with such a convergence dynamics is crucial to solve optimization problems. In recent literature, many researchers have studied the equilibria and stability properties of neural networks and presented various sufficient conditions for the uniqueness and global asymptotic stability of the equilibrium point for neural networks [1]-[13]. On the other hand, it is well known that a significant time delay may occur during the communication between neurons, which may cause a complete change in the dynamical behavior of neural systems. Therefore, determining the affect of the time delays on the equilibrium and stability properties of neural networks is of prime importance. In this paper, by employing more general types of Lyapunov functionals, we will present a new sufficient condition for the uniqueness and global asymptotic stability of the equilibrium point for Cohen-Grossberg neural networks with time delays.

#### **II. COHEN-GROSSBERG NEURAL NETWORK** MODEL AND SOME BASIC CONCEPTS

Cohen-Grossberg neural network model we consider in this paper is assumed to be described by the following set of differential equations :

$$\dot{x}_{i}(t) = d_{i}(x_{i}(t))[-c_{i}(x_{i}(t)) + \sum_{j=1}^{n} a_{ij}f_{j}(x_{j}(t)) + \sum_{j=1}^{n} b_{ij}f_{j}(x_{j}(t-\tau_{ij})) + u_{i}]$$

$$(1)$$

where n is the number of the neurons in the network,  $x_i$ denotes the state of the *i*th neuron,  $d_i(x_i)$  represents an amplification function, and  $c_i(x_i)$  is a behaved function such that the solution of network model (1) remains bounded. The constants  $a_{ij}$  denote the strengths of the neuron interconnections within the network, the constants  $b_{ij}$  denote the strengths of the neuron interconnections with time delay parameters  $\tau_{ij}$ . Finally, the functions  $f_i(\cdot)$  denote the neuronal activations and the constants  $u_i$  are some external inputs. In system (1),  $\tau_{ii}(t) \ge 0$  represents the delay parameter with  $\tau = max(\tau_{ij}), 1 \leq i, j \leq n$ . Accompanying the neural system (1) is an initial condition of the form :  $x_i(t) = \phi_i(t) \in C([-\tau, 0], R)$ , where  $C([-\tau, 0], R)$  denotes the set of all continuous functions from  $[-\tau, 0]$  to R.

We now give some usual assumptions on the functions  $d_i$ ,  $c_i$  and  $f_i$ :

 $A_1$ : The functions  $d_i(x)$ , i = 1, 2, ..., n are continuously bounded, and there exist positive constants  $\mu_i$  and  $\rho_i$  such that  $0 < \mu_i \leq d_i(x) \leq \rho_i, \forall x \in R$ .

 $A_2$  : The functions  $c_i$  are continuous and there exist constants  $\gamma_i > 0$  such that

$$\frac{c_i(x) - c_i(y)}{x - y} = \frac{|c_i(x) - c_i(y)|}{|x - y|} \ge \gamma_i > 0, \ i = 1, 2, \dots, n,$$
$$\forall x, y \in R, x \ne y$$

 $A_3$ : There exist some positive constants  $G_i$  such that

$$0 {\leq} \frac{f_i(x) - f_i(y)}{x - y} {\leq} G_i, \ i = 1, 2, ..., n, \ \forall x, y \in R, x \neq y$$

We recall some basic vector and matrix norms. For x = $(x_1, x_2, ..., x_n)^T$ , the three commonly used vector norms are :  $||x||_1 = \sum_{i=1}^n |x_i|$ ,  $||x||_2 = \sqrt{\sum_{i=1}^n x_i^2}$ ,  $||x||_{\infty} = \max_{1 \le i \le n} |x_i|$ . For any matrix  $A = (a_{ij})_{n \times n}$ ,  $||A||_1 =$  $\max_{1 \le j \le n} \sum_{i=1}^{n} |a_{ij}|, \quad ||A||_{\infty} = \max_{1 \le i \le n} \sum_{j=1}^{n} |a_{ij}|, \quad ||A||_{2} = \sqrt{\lambda_{M}(A^{T}A)}, \text{ where } \lambda_{M}(A^{T}A) \text{ denotes the maximum eigen-}$ 

value of the matrix  $A^T A$ .

This work was supported by the Scientific and Technological Research Council of Turkey, under Project 104E024.

The authors are with the Department of Computer Engineering, Istanbul University, 34320 Istanbul, Turkey (e-mail: ariks@istanbul.edu.tr)

## III. EXISTENCE AND UNIQUENESS ANALYSIS OF EQUILIBRIUM POINT

In this section we present the following condition that establishes the existence and uniqueness of the equilibrium point for system (1).

Theorem 1: Suppose that the assumptions  $A_1$ ,  $A_2$  and  $A_3$  are satisfied. Then, the Cohen-Grossberg neural networks defined by (1) has a unique equilibrium point for each u, if the following condition holds :

$$\Omega = 2\Gamma G^{-1} - A - A^T - Q > 0$$

where  $\Gamma = diag(\gamma_1, \gamma_2, ..., \gamma_n)$  and  $G = diag(G_1, G_2, ..., G_n)$ , and  $Q = diag(q_1, q_2, ..., q_n)$  with

$$q_i = \sum_{j=1}^{n} (|b_{ij}| + |b_{ji}|), i = 1, 2, ..., n$$

*Proof:* Let  $x^* = (x_1^*, x_2^*, ..., x_n^*)^T$  denote an equilibrium point of neural network model (1). Then,  $x^*$  satisfies

$$D(x^*)[-C(x^*) + Af(x^*) + Bf(x^*) + u] = 0$$
(2)

Since  $D(x^*)$  is a positive diagonal matrix, from (2), it follows that

$$-C(x^*) + Af(x^*) + Bf(x^*) + u = 0$$
(3)

Let

$$H(x) = -C(x) + Af(x) + Bf(x) + u = 0$$
(4)

where  $H(x) = (h_1(x), h_2(x), ..., h_n(x))^T$  with

$$h_i(x) = -c_i(x_i) + \sum_{j=1}^n a_{ij} f_j(x_j) + \sum_{j=1}^n b_{ij} f_j(x_j) + u_i,$$
  
$$i = 1, 2, ..., n$$

Since every solution of H(x) = 0 is an equilibrium point of (1), it follows that, for system defined by (1), there exists a unique equilibrium point for every input vector u if H(x) is homeomorphism of  $\mathbb{R}^n$  (see [5]). In the following, we will prove that H(x) is a homeomorphism of  $\mathbb{R}^n$ .

Let choose two vectors  $x, y \in \mathbb{R}^n$  such that  $x \neq y$ . For H(x) defined by (4), we can write

$$H(x) - H(y) = -(C(x) - C(y)) + A(f(x) - f(y)) + B(f(x) - f(y))$$
(5)

First, consider the case  $x \neq y$  with f(x) - f(y) = 0; in this case, we have

$$H(x) - H(y) = -(C(x) - C(y))$$

Under assumption  $A_2$ ,  $x \neq y$  implies that  $C(x) \neq C(y)$ . On the other hand, if  $C(x) \neq C(y)$ , then  $H(x) \neq H(y)$ . Hence,  $x \neq y$  implies that  $H(x) \neq H(y)$ . Now consider the case where  $x - y \neq 0$  and  $f(x) - f(y) \neq 0$ . Multiplying both sides of (5) by  $2(f(x) - f(y))^T$  results in

$$2(f(x) - f(y))^{T}(H(x) - H(y)) = -2(f(x) - f(y))^{T}(C(x) - C(y)) + 2(f(x) - f(y))^{T}A(f(x) - f(y)) + 2(f(x) - f(y))^{T}B(f(x) - f(y)) = -2(f(x) - f(y))^{T}(C(x) - C(y)) + (f(x) - f(y))^{T}(A + A^{T})(f(x) - f(y)) + 2(f(x) - f(y))^{T}B(f(x) - f(y))$$

From the assumptions  $A_2$  and  $A_3$ , we obtain

$$(f(x) - f(y))^{T} (C(x) - C(y)) \\ \ge (f(x) - f(y))^{T} \Gamma(x - y) \\ \ge (f(x) - f(y))^{T} \Gamma G^{-1} (f(x) - f(y))$$

We also note the following inequality

$$\begin{split} & 2(f(x) - f(y))^T B(f(x) - f(y)) \\ &= \sum_{i=1}^n \sum_{j=1}^n 2b_{ij}(f_i(x_i) - f_i(y_i))(f_j(x_j) - f_j(y_j)) \\ &\leq \sum_{i=1}^n \sum_{j=1}^n 2|b_{ij}||f_i(x_i) - f_i(y_i)||f_j(x_j) - f_j(y_j)| \\ &\leq \sum_{i=1}^n \sum_{j=1}^n |b_{ij}|((f_i(x_i) - f_i(y_i))^2 + (f_j(x_j) - f_j(y_j))^2) \\ &= \sum_{i=1}^n \sum_{j=1}^n |b_{ij}|(f_i(x_i) - f_i(y_i))^2 \\ &+ \sum_{i=1}^n \sum_{j=1}^n |b_{ji}|(f_i(x_i) - f_i(y_i))^2 \\ &= \sum_{i=1}^n \sum_{j=1}^n (|b_{ij}| + |b_{ji}|)(f_i(x_i) - f_i(y_i))^2 \\ &= \sum_{i=1}^n q_i(f_i(x_i) - f_i(y_i))^2 \\ &= (f(x) - f(y))^T Q(f(x) - f(y)) \end{split}$$

Using the above two inequalities in (6) results in

$$2(f(x) - f(y))^{T}(H(x) - H(y))$$

$$\leq -2(f(x) - f(y))^{T}\Gamma G^{-1}(f(x) - f(y))$$

$$+(f(x) - f(y))^{T}(A + A^{T})(f(x) - f(y))$$

$$+(f(x) - f(y))^{T}Q(f(x) - f(y))$$

$$= -(f(x) - f(y))^{T}\Omega(f(x) - f(y))$$
(7)

For  $f(x) - f(y) \neq 0$ ,  $\Omega > 0$  implies that

$$2(f(x) - f(y))^{T}(H(x) - H(y)) < 0$$

form which it can be concluded that  $H(x) \neq H(y)$  when  $f(x) - f(y) \neq 0$ , thus proving that  $H(x) \neq H(y)$  for all  $x \neq y$ .

Now, if we let y = 0 in (7), then we obtain :

$$2(f(x) - f(0))^T (H(x) - H(0)) \\ \leq -(f(x) - f(0))^T \Omega f(x) - f(0)$$

Ċ

leading to

$$\frac{|2(f(x) - f(0))^T (H(x) - H(0))|}{(f(x) - f(0))^T \Omega f(x) - f(0)}$$

from which it follows that

$$2|f(x) - f(0)||_{\infty} ||H(x) - H(0)||_{1}$$
  
>  $\lambda_m(\Omega) ||f(x) - f(0)||_{2}^{2}$ 

Considering that  $||f(x) - f(0)||_{\infty} \le ||f(x) - f(0)||_2$ ,  $||H(x) - H(0)||_1 \le ||H(x)||_1 + ||H(0)||_1$  and  $||f(x) - f(0))||_1 \ge ||f(x)||_1 - ||f(0)||_1$ , we obtain

$$\begin{split} ||H(x)||_{1} \\ > \frac{\lambda_{m}(\Omega)||f(x)||_{2} - \lambda_{m}(\Omega)||f(0)||_{2} - 2||H(0)||_{1}}{2||P||_{\infty}} \end{split}$$

Since,  $||H(0)||_1$  and  $||f(0)||_2$  are finite, then  $||H(x)|| \to \infty$ as  $||f(x)|| \to \infty$ . (We should point out here that, for unbounded activation functions,  $||f(x)|| \to \infty$  if  $||x|| \to \infty$ . Therefore, we can conclude that  $||H(x)|| \to \infty$  as  $||x|| \to \infty$ . As for the bounded activation functions, it is always true that  $||H(x)|| \to \infty$  as  $||x|| \to \infty$ . [5]) Thus, it follows that the map  $H(x) : \mathbb{R}^n \to \mathbb{R}^n$  is homomorphism of  $\mathbb{R}^n$ , hence there exists a unique  $x^*$  such  $H(x^*) = 0$  which is a solution of (1). Hence, the proof of the existence and uniqueness of the equilibrium point is now completed.

## IV. STABILITY ANALYSIS OF EQUILIBRIUM POINT

In this section, we will prove that  $\Omega > 0$  also implies the global asymptotic stability of the equilibrium point for neural system (1). To simplify the proofs, we will first shift the equilibrium point of system (1) to the origin. Suppose that  $x^*$  is an equilibrium point of system (1). By using the transformation  $z(t) = x(t) - x^*$ , the equilibrium point  $x^*$  can be shifted to the origin. The neural network model (1) can be rewritten as :

$$\dot{z}_{i}(t) = \alpha_{i}(z_{i}(t))[-\beta_{i}(z_{i}(t)) + \sum_{j=1}^{n} a_{ij}g_{j}(z_{j}(t)) + \sum_{j=1}^{n} b_{ij}g_{j}(z_{j}(t-\tau_{ij}))]$$

$$(8)$$

For the transformed system (8), we have

$$\alpha_i(z_i(t)) = d_i(z_i(t) + x_i^*), \ i = 1, 2, ..., n$$
  
$$\beta_i(z_i(t)) = c_i(z_i(t) + x_i^*) - c_i(x_i^*), \ i = 1, 2, ..., n$$
  
$$g_i(z_i(t)) = f_i(z_i(t) + x_i^*) - f_i(x_i^*), \ i = 1, 2, ..., n$$

Assumptions  $A_1$ ,  $A_2$ ,  $A_3$  respectively imply that

$$\begin{aligned} 0 < \mu_i &\leq \alpha_i(z_i(t)) \leq \rho_i, \ i = 1, 2, ..., n\\ z_i(t)\beta_i(z_i(t)) &\geq \gamma_i z_i^2(t), \ i = 1, 2, ..., n\\ |g_i(z_i(t))| &\leq G_i |z_i(t)|, \ z_i(t)g_i(z_i(t)) \geq 0, \ i = 1, 2, ..., n \end{aligned}$$

In order to show that  $\Omega > 0$  is also a sufficient condition for global asymptotic stability of the origin of (8), the following positive definite Lyapunov functional will be employed :

$$\begin{split} V(z(t)) &= 2n \sum_{i=1}^{n} \int_{0}^{z_{i}(t)} \frac{s}{\alpha_{i}(s)} ds \\ &+ 2\alpha \sum_{i=1}^{n} \int_{0}^{z_{i}(t)} \frac{g_{i}(s)}{\alpha_{i}(s)} ds \\ &+ \sum_{i=1}^{n} \sum_{j=1}^{n} \alpha |b_{ij}| \int_{t-\tau_{ij}}^{t} g_{j}^{2}(z_{j}(\xi)) d\xi \\ &+ \sum_{i=1}^{n} \sum_{j=1}^{n} \varepsilon \int_{t-\tau_{ij}}^{t} g_{j}^{2}(z_{j}(\xi)) d\xi \\ &+ \sum_{i=1}^{n} \sum_{j=1}^{n} \frac{1}{\gamma_{i}} n^{2} b_{ij}^{2} \int_{t-\tau_{ij}}^{t} g_{j}^{2}(z_{j}(\xi)) d\xi \end{split}$$

where the  $\alpha$  and  $\varepsilon$  are positive constants to be determined later. The time derivative of the functional along the trajectories of system (8) is obtained as follows

$$\begin{split} (z(t)) &= -2\sum_{i=1}^{n} n\beta_i(z_i(t))z_i(t) \\ &+ \sum_{i=1}^{n}\sum_{j=1}^{n} 2na_{ij}z_i(t)g_j(z_j(t)) \\ &+ \sum_{i=1}^{n}\sum_{j=1}^{n} 2nb_{ij}z_i(t)g_j(z_j(t-\tau_{ij})) \\ &- 2\alpha\sum_{i=1}^{n}\beta_i(z_i(t))g_i(z_i(t)) \\ &+ \alpha\sum_{i=1}^{n}\sum_{j=1}^{n} 2a_{ij}g_i(z_i(t))g_j(z_j(t-\tau_{ij})) \\ &+ \alpha\sum_{i=1}^{n}\sum_{j=1}^{n} 2b_{ij}g_i(z_i(t))g_j(z_j(t-\tau_{ij})) \\ &+ \alpha\sum_{i=1}^{n}\sum_{j=1}^{n} |b_{ij}|g_j^2(z_j(t-\tau_{ij})) \\ &+ \sum_{i=1}^{n}\sum_{j=1}^{n} |b_{ij}|g_j^2(z_j(t-\tau_{ij})) \\ &+ \sum_{i=1}^{n}\sum_{j=1}^{n} \frac{1}{\gamma_i}n^2b_{ij}^2g_j^2(z_j(t-\tau_{ij})) \\ &+ \sum_{i=1}^{n}\sum_{j=1}^{n} \frac{1}{\gamma_i}n^2b_{ij}^2g_j^2(z_j(t-\tau_{ij})) \end{split}$$

We have

$$\sum_{i=1}^{n} \sum_{j=1}^{n} 2na_{ij}z_i(t)g_j(z_j(t))$$
  
$$\leq \sum_{i=1}^{n} \sum_{j=1}^{n} \gamma_i z_i^2(t) + \sum_{i=1}^{n} \sum_{j=1}^{n} \frac{1}{\gamma_i} n^2 a_{ij}^2 g_j^2(z_j(t))$$

$$\sum_{i=1}^{n} \sum_{j=1}^{n} 2n b_{ij} z_i(t) g_j(z_j(t-\tau_{ij}))$$
  
$$\leq \sum_{i=1}^{n} \sum_{j=1}^{n} \gamma_i z_i^2(t) + \sum_{i=1}^{n} \sum_{j=1}^{n} \frac{1}{\gamma_i} n^2 b_{ij}^2 g_j^2(z_j(t-\tau_{ij}))$$

$$\alpha \sum_{i=1}^{n} \sum_{j=1}^{n} 2b_{ij}g_i(z_i(t))g_j(z_j(t-\tau_{ij}))$$
  
$$\leq \alpha \sum_{i=1}^{n} \sum_{j=1}^{n} |b_{ij}|g_i^2(z_i(t))$$
  
$$+\alpha \sum_{i=1}^{n} \sum_{j=1}^{n} |b_{ij}|g_j^2(z_j(t-\tau_{ij}))$$

$$\begin{aligned} -2\alpha\sum_{i=1}^n\beta_i(z_i(t))g_i(z_i(t)) &\leq -2\alpha\sum_{i=1}^n\gamma_i z_i(t)g_i(z_i(t))\\ &\leq -2\alpha\sum_{i=1}^n\gamma_i G_i^{-1}g_i^2(z_i(t))\end{aligned}$$

In the light above inequalities,  $\dot{V}(\boldsymbol{z}(t))$  can be written as follows

$$\begin{split} \dot{V}(z(t)) &\leq \sum_{i=1}^{n} \sum_{j=1}^{n} \frac{1}{\gamma_{i}} n^{2} a_{ij}^{2} g_{j}^{2}(z_{j}(t)) \\ &+ \sum_{i=1}^{n} \sum_{j=1}^{n} \frac{1}{\gamma_{i}} n^{2} b_{ij}^{2} g_{j}^{2}(z_{j}(t)) \\ &+ \sum_{i=1}^{n} \sum_{j=1}^{n} \frac{1}{\gamma_{i}} n^{2} b_{ij}^{2} g_{j}^{2}(z_{j}(t)) \\ &+ \alpha \sum_{i=1}^{n} \sum_{j=1}^{n} 2 a_{ij} g_{i}(z_{i}(t)) g_{j}(z_{j}(t)) \\ &+ \alpha \sum_{i=1}^{n} \sum_{j=1}^{n} |b_{ij}| g_{j}^{2}(z_{i}(t)) \\ &+ \alpha \sum_{i=1}^{n} \sum_{j=1}^{n} |b_{ij}| g_{i}^{2}(z_{i}(t)) + \sum_{i=1}^{n} \sum_{j=1}^{n} \varepsilon g_{i}^{2}(z_{i}(t)) \\ &= \sum_{i=1}^{n} \sum_{j=1}^{n} \frac{1}{\gamma_{i}} n^{2} [a_{ji}^{2} + b_{ji}^{2}] g_{i}^{2}(z_{i}(t)) \\ &+ \sum_{i=1}^{n} \sum_{j=1}^{n} \varepsilon g_{i}^{2}(z_{i}(t)) - 2\alpha \sum_{i=1}^{n} \gamma_{i} G_{i}^{-1} g_{i}^{2}(z_{i}(t)) \\ &+ \alpha \sum_{i=1}^{n} \sum_{j=1}^{n} 2 a_{ij} g_{i}(z_{i}(t)) g_{j}(z_{j}(t)) \\ &+ \alpha \sum_{i=1}^{n} \sum_{j=1}^{n} (|b_{ij}| + |b_{ji}|) g_{i}^{2}(z_{i}(t)) \end{split}$$

Then, we have

 $\dot{V}$ 

$$\begin{split} \dot{V}(z(t)) &\leq \sum_{i=1}^{n} \sum_{j=1}^{n} \delta g_{i}^{2}(z_{i}(t)) + \sum_{i=1}^{n} \sum_{j=1}^{n} \varepsilon g_{i}^{2}(z_{i}(t)) \\ &- 2\alpha g^{T}(z(t)) \Gamma G^{-1}g(z(t)) \\ &+ \alpha g^{T}(z(t)) (A + A^{T})g(z(t)) \\ &+ \alpha g^{T}(z(t)) Qg(z(t)) \\ &= n(\delta + \varepsilon) ||g(z(t))||_{2}^{2} - \alpha g^{T}(z(t)) \Omega g(z(t)) \\ &\leq n(\delta + \varepsilon) ||g(z(t))||_{2}^{2} - \alpha \lambda_{m}(\Omega) ||g(z(t))||_{2}^{2} \\ &= -(\alpha \lambda_{m}(\Omega) - n(\delta + \varepsilon)) ||g(z(t))||_{2}^{2} \end{split}$$

in which  $\alpha > \frac{n(\delta+\varepsilon)}{\lambda_m(\Omega)}$  implies that  $\dot{V}(z(t))$  is negative definite for all  $g(z(t)) \neq 0$ . (We know that  $g(z(t)) \neq 0$  implies that  $z(t) \neq 0$ ). Now let g(z(t)) = 0. In this case  $\dot{V}(z(t))$  satisfies

$$\begin{aligned} (z(t)) &= -2\sum_{i=1}^{n} n\beta_i(z_i(t))z_i(t) \\ &+ \sum_{i=1}^{n} \sum_{j=1}^{n} 2nb_{ij}z_i(t)g_j(z_j(t-\tau_{ij})) \\ &- \alpha\sum_{i=1}^{n} \sum_{j=1}^{n} 2nb_{ij}g_j^2(z_j(t-\tau_{ij})) \\ &- \sum_{i=1}^{n} \sum_{j=1}^{n} \varepsilon g_j^2(z_j(t-\tau_{ij})) \\ &- \sum_{i=1}^{n} \sum_{j=1}^{n} \frac{1}{\gamma_i} n^2 b_{ij}^2 g_j^2(z_j(t-\tau_{ij})) \\ &\leq -2\sum_{i=1}^{n} n\beta_i(z_i(t))z_i(t) \\ &+ \sum_{i=1}^{n} \sum_{j=1}^{n} 2nb_{ij}z_i(t)g_j(z_j(t-\tau_{ij})) \\ &- \sum_{i=1}^{n} \sum_{j=1}^{n} \frac{1}{\gamma_i} n^2 b_{ij}^2 g_j^2(z_j(t-\tau_{ij})) \end{aligned}$$

Since

$$-\sum_{i=1}^{n} n\beta_i(z_i(t))z_i(t) + \sum_{i=1}^{n} \sum_{j=1}^{n} 2nb_{ij}z_i(t)g_j(z_j(t-\tau_{ij})) \\ -\sum_{i=1}^{n} \sum_{j=1}^{n} \frac{1}{\gamma_i} n^2 b_{ij}^2 g_j^2(z_j(t-\tau_{ij})) \le 0$$

we obtain

$$\dot{V}(z(t)) \le -\sum_{i=1}^{n} n\beta_i(z_i(t))z_i(t)$$

implying that  $\dot{V}(z(t)) < 0$  for all  $z(t) \neq 0$ . Now consider the case where g(z(t)) = z(t) = 0. In this case, for  $\dot{V}(z(t))$ , we

Let

$$\delta = max(\frac{1}{\gamma_i}n^2[a_{ji}^2 + b_{ji}^2])$$

have

$$\dot{V}(z(t)) = -\alpha \sum_{i=1}^{n} \sum_{j=1}^{n} |b_{ij}| g_j^2(z_j(t-\tau_{ij})) -\sum_{i=1}^{n} \sum_{j=1}^{n} \varepsilon g_j^2(z_j(t-\tau_{ij})) -\sum_{i=1}^{n} \sum_{j=1}^{n} \frac{1}{\gamma_i} n^2 b_{ij}^2 g_j^2(z_j(t-\tau_{ij}))$$

in which  $\dot{V}(z(t)) < 0$  if there exists at least one nonzero  $g_j(z_j(t-\tau_{ij}))$ . Hence, we can conclude that  $\dot{V}(z(t)) = 0$  if and only if g(z(t)) = z(t) = 0 and  $g_j(z_j(t-\tau_{ij})) = 0$  for all  $i, j, \dot{V}(z(t)) < 0$  otherwise. In addition, V(z(t)) is radially unbounded since  $V(z(t)) \to \infty$  as  $||z(t)|| \to \infty$ . Thus, the origin system (8), or equivalently the equilibrium point of system (1) is globally asymptotically stable [14].

Now, we will compare our result with two previously published results, which are restated in the following :

Theorem 2 (3): Consider the delayed system (1) and assume that conditions  $(A_1) - (A_2) - (A_3)$  are satisfied. If there exists positive constants  $m_i$ , i = 1, 2, ..., n,  $r_1 \in [0, 1]$ ,  $r_2 \in [0, 1]$ , and following conditions holds:

$$\max_{1 \le i \le n} \left\{ \frac{1}{\gamma_i m_i} \left( m_i \sum_{j=1}^n (G_j^{2r_1} |a_{ij}| + G_j^{2r_2} |b_{ij}|) + \sum_{j=1}^n m_j (G_i^{2(1-r_1)} |a_{ji}| + G_i^{2(1-r_2)} |b_{ji}|) \right) \right\} < 2$$

then the equilibrium point  $x^*$  for system (1) is globally asymptotically stable.

Theorem 3 (4): Assume that system (1) satisfies the assumptions  $(A_1), (A_2)$  and  $(A_3)$  are satisfied and there exist constants  $p_{ij}, q_{ij}, s_{ij}, t_{ij} \in R$ , i, j = 1, 2, ..., n, such that

$$\gamma_i - \frac{1}{2} \sum_{j=1}^n [|a_{ij}|^{2-q_{ij}} G_j^{2-p_{ij}} + |a_{ji}|^{q_{ji}} G_i^{p_{ji}} + |b_{ij}|^{2-s_{ij}} G_j^{2-t_{ij}} + |b_{ji}|^{s_{ji}} G_i^{t_{ji}}] > 0$$

then the equilibrium point  $x^*$  for system (1) is globally asymptotically stable.

We now give the following examples :

*Example 1:* We consider the example where the network parameters are given as follows :

$$A = \begin{bmatrix} 0 & -1 \\ 1 & 0 \end{bmatrix}, B = \begin{bmatrix} b & b \\ b & b \end{bmatrix},$$
$$\Gamma = G = \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix}$$

Let  $m_i = 1$ . When applying the result of Theorem 2 to this example, stability condition is ensured if only if |b| = 0.

However, for the same network parameters, our theorem gives the result as 0 < |b| < 1/2.

*Example 2:* Now consider the example where the network parameters are given as follows :

$$A = \begin{bmatrix} 1 & -1 \\ 1 & 1 \end{bmatrix}, \quad B = \begin{bmatrix} 1 & 1 \\ 1 & 1 \end{bmatrix}$$

Let  $G_i = 1$ . Applying the result of Theorem 3 to this example yields conditions  $\gamma_1 > 4$  and  $\gamma_2 > 4$ . For the same network parameters, our theorem gives the conditions  $\gamma_1 > 3$  and  $\gamma_2 > 3$ .

## V. CONCLUSION

This paper presented a new sufficient condition for the existence, uniqueness and global asymptotic stability of Cohen-Grossberg neural networks with time delays. The proposed condition has been derived by using a more general type of Lyapunov functionals. The obtained results have been shown to be considered an alternative result to the previous results derived in the literature.

#### REFERENCES

- M.A. Cohen and S. Grossberg, "Absolute stability and global pattern formation and parallel memory storage by competitive neural networks", *IEEE Trans. Systems, Man and Cybernetics*, vol. 13, pp. 815–821, 1983.
- [2] H.Ye, A. N. Michel, and K. Wang, "Qualitative analysis of Cohen-Grossberg neural networks with multiple delays", *Physical Review E*, vol. 51, pp. 2611–2618, March 1995.
- [3] X.Liao, C. Li, and K. Wong, "Criteria for exponential stability of Cohen-Grossberg neural networks", *Neural Networks*, vol. 17, pp. 1401–1414, August 2004.
- [4] J.Liu, "Global exponential stability of Cohen-Grossberg neural networks with time-varying delays", *Chaos Solitons and Fractals*, vol. 26, pp. 935–945, January 2005.
- [5] M. Forti and A. Tesi, "New conditions for global stability of neural networks with applications to linear and quadratic programming problems", *IEEE Trans. Circuits Syst.*, vol. 42, no. 7, pp. 354–365, July 1995.
- [6] Q.K. Song , J.D. Cao , "Stability analysis of Cohen-Grossberg neural network with both time-varying and continuously distributed delays", *Journal of Computational and Applied Mathematics*, vol. 197, no. 1, pp. 188–203, December 2006.
- [7] S. Arik, V. Tavsanoglu, "On the global asymptotic stability of delayed cellular neural networks", *IEEE Trans. Circuits and Syst.I*, vol. 47, no. 5, pp. 571-574, April 2000.
  [8] X.Y. Lou, B.T. Cui, "Global exponential stability analysis of delayed
- [8] X.Y. Lou, B.T. Cui, "Global exponential stability analysis of delayed Cohen-Grossberg neural networks with distributed delays", *International Journal of Systems Science*, vol. 38 pp. 601-609, 2007.
- [9] W. Yu, J. Cao and J. Wang, "An LMI approach to global asymptotic stability of the delayed Cohen-Grossberg neural network via nonsmooth analysis", *Neural Networks*, vol. 20, pp. 810-818, Sep 2007.
- [10] T.W. Huang, C.D. Li, G. Chen, "Stability of Cohen-Grossberg neural networks with unbounded distributed delays", *Chaos Solitons and Fractals*, vol. 34, pp. 992-996, Nov 2007.
- [11] H. Huang, J. Cao and J. Wang, "Global exponential stability and periodic solutions of recurrent neural networks with delays", *Physics Letters A*, vol. 298, pp. 393-404, June 2002.
- [12] Z.H. Yuan, L.F. Yuan and L.H. Huang, "Dynamics of periodic Cohen-Grossberg neural networks with varying delays", *Neurocomputing*, vol. 70, pp. 164-172, Dec 2006.
- [13] C. C. Hwang, C. J. Cheng and T. L. Liao, "Globally exponential stability of generalized Cohen-Grossberg neural networks with delays," *Physics Letters A*, vol. 319, pp. 157-166, 2003.
- [14] H. K. Khalil, Nonlinear Systems, Mcmillan Publishing Company, New York, 1988